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General Instructions to the Candidate : 

1.  This question paper consists of 47 questions. 

2.  This question paper has been sealed by reverse jacket. You have to cut 

on the right side to open the paper at the time of commencement of 

the examination ( Follow the arrow mark ). Do not cut the left side to 

open the paper. Check whether all the pages of the question paper are 

intact. 

3. Follow the instructions given against the questions. 

4.  Figures in the right hand margin indicate maximum marks for the 

questions. 

5. The maximum time to answer the paper is given at the top of the 

question paper. It includes 15 minutes for reading the question paper. 

6. Ensure that the Version of the question paper distributed to you and 

the Version printed on your admission ticket are the same.
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I. Four choices are given for each of the following questions / 

incomplete statements. Choose the correct answer and 

write the complete answer along with its letter of alphabet.  

   10 × 1 = 10 

1. Human Development Index was designed by 

 (A) Ragnar Nurkse 

 (B) Mahbub ul Haq 

 (C) Adam Smith 

 (D) Alfred Marshal 

2. The state having least density of population is 

 (A) Karnataka 

 (B) Uttar Pradesh 

 (C) Arunachal Pradesh 

 (D) Tamil Nadu 
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3. The Permanent Zamindari system was introduced by 

 (A) Cornwallis (B) Canning 

 (C) Wellesley  (D) Curzon 

4. The Apex bank for agricultural finance is 

 (A) Cooperative bank 

 (B) Regional rural bank 

 (C) NABARD 

 (D) Canara Bank 

5. The statement ‘‘Industrialise or perish’’ was given by 

 (A) Jawaharlal Nehru 

 (B)  Mahatma Gandhi 

 (C) M.S. Swaminathan 

 (D) Sir M. Vishveshwaraiah 
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6. Abolition of Bonded Labour Act was implemented in 

 (A) 2015 (B) 2000 

 (C) 1976 (D) 1956 

7. The fastest medium of transport is 

 (A) Air transport 

 (B) Road transport 

 (C) Water transport 

 (D) Rail transport 

8. The oldest central bank of the world is 

 (A) Imperial Bank 

 (B) Riks Bank 

 (C) Bank of France 

 (D) Bank of England 
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9. The currency of England is  

 (A) Pound 

 (B) Dollar 

 (C) Franc 

 (D) Rupee 

10. The term considered as ‘Engine of growth’ is 

 (A) Exhibition sale 

 (B) Fairs 

 (C) Internal trade 

 (D) International trade 
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II. 11. Match the following list ‘A’ with list ‘B’ and write the 

answer along with its letter of alphabet :  5 × 1 = 5 

 A B 

 a) Nuclear energy i) Bauxite 

 b) Aluminium  ii) Petroleum 

 c) Gold iii) Coal 

 d) Liquid gold iv) Uranium  

 e) Bituminous v) Magnetite 

  vi) Hatti 

  vii) Limestone 

III. Answer the following questions in a word or sentence each :  

    15 × 1 = 15 

12. Who explained the vicious circle of poverty ? 

13. What is family planning ? 
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14. What is the reason for decrease in death rate in India ? 

15. What is sprinkler irrigation ?  

16. Why is Prof. Norman Borlaug called as ‘Father of Green 

Revolution’ ? 

17. Imperial Bank was nationalised. Why ? 

18. What is industrialisation ?  

19. What was the reason for the formulation of labour    

policy ? 

20. What is Broad Gauge ? 

21. Where is the head office of the Reserve Bank of India 

situated ? 
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22. What is the aim of establishment of the Port Development 

Corporation ?  

23. Mention the reason for establishment of Reserve Bank of 

India. 

24. Define exchange rate.  

25. What is the importance of foreign exchange reserve ?  

26. What is trade ?  

IV. Answer the following questions in about two to four    

sentences / points each :  14 × 2 = 28 

27. What are the characteristics of India as underdeveloped 

economy ? 

28. How can natural resources be classified ? 
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29. Explain the impacts of the population exploitation.  

30. Name the main sources of irrigation in India.  

31. Which are the sources of agricultural finance ? 

32. What are the functions of National Industries   

Corporation ? 

33. Mention the objectives of labour policy in India. 

34. Make a list of the types of poverty.  

35. What are the reasons for poverty ? 

36. What is the importance of railway transport ? 

37. Mention the classification of road transport. 

38. Why is Reserve Bank of India called as ‘Banker’s Bank’ ? 
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39. Where are the regional offices of Reserve Bank of India 

established ?  

40. List out the main imports of India.  

V. Answer the following questions in about three to six 

points/sentences each :   6 × 3 = 18 

41. What are the characteristics of developed countries ? 

42. Mention the factors that influence the density of 

population in India.  

43. The land reforms have failed in India. Why ? 

44. Explain the non-institutional credit agencies of 

agriculture. 

45. What is the importance of labour unions ? 

46. List out the remedies for poverty alleviation in India. 
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VI. Answer the following question in about four to eight                  

sentences / points :  1 × 4 = 4 

47. What is the importance of industries in India ?  
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